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Examples Select The Correct Answer Mcq

s
1. (i) The Cartesian co-ordinates of the point (\/ﬁ, E)

is

i)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4kzwFjzVApwd
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Answer: A

° Watch Video Solution

2. (ii) The polar form of the equation

3
(:132 + y2) 2 = a(a:2 — y2) in the Cartesian form is
A.r = acosb

B.r = asinf



https://dl.doubtnut.com/l/_4kzwFjzVApwd
https://dl.doubtnut.com/l/_53RxEqLbdXXg

C.r = acos 20

D.r = asin 26

Answer: C

o Watch Video Solution

3. (iii) The Cartesian form the equation » = asin@ in

the polar is........

A.a:2+y2 = azx
B.a:2—i—y2 = ay

C. z> —y2 — ax


https://dl.doubtnut.com/l/_53RxEqLbdXXg
https://dl.doubtnut.com/l/_If6xXPHIZS2F

D.x2” —y” = ay

Answer: B

o Watch Video Solution

Examples Short Answer Type Questions

1. (a) Plot the following points on the graph-paper and

write whether they are above or below the x-axis : (i)

(37 o 2)

° Watch Video Solution



https://dl.doubtnut.com/l/_If6xXPHIZS2F
https://dl.doubtnut.com/l/_Nkj1w4MaF85P

2. (a) Plot the following points on the graph-paper

and write whether they are above or below the x-axis :

(i) (— 5, — 5)

° Watch Video Solution

3. (a) Plot the following points on the graph-paper

and write whether they are above or below the x-axis :

(i) (7, — 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_8VDAQ5mkrxoG
https://dl.doubtnut.com/l/_N7DVVMQBb8eo

4. (a) Plot the following points on the graph-paper

and write whether they are above or below the x-axis :

(iv) (0, — 9)

° Watch Video Solution

5. (b) Plot the following points on the graph paper
and write whether they are on the right side or on the

left side of the y-axis. (i) (5, — 7)

° Watch Video Solution



https://dl.doubtnut.com/l/_BWqVDNNUbQKV
https://dl.doubtnut.com/l/_9XAbWrKchGo9

6. (b) Plot the following points on the graph paper
and write whether they are on the right side or on the

left side of the y-axis. (i) ( — 3, — 5)

° Watch Video Solution

7. (b) Plot the following points on the graph paper
and write whether they are on the right side or on the

left side of the y-axis. (iii) ( — 3, 4)

° Watch Video Solution



https://dl.doubtnut.com/l/_iuFRkeXizA5n
https://dl.doubtnut.com/l/_RyGdCCLofVLZ

8. (b) Plot the following points on the graph paper
and write whether they are on the right side or on the

left side of the y-axis. (iv) (11, 3)

o Watch Video Solution

9. Write four points on the x-axis.

° Watch Video Solution

10. Write four points on the y-axis.

° Watch Video Solution



https://dl.doubtnut.com/l/_29QKGv9vnn6O
https://dl.doubtnut.com/l/_j0XO9FhteDcI
https://dl.doubtnut.com/l/_dZDugOxYzs0y

11. Write the co-ordinates of a point in each of the

quadrants.

° Watch Video Solution

12. The distance of a point from the x-axis in the
positive direction is 5 and from the y-axis in the
positive direction is 7. Find the co-ordinates of the

point.

° Watch Video Solution

Examples Lone Answer Type Questions


https://dl.doubtnut.com/l/_BtPberSnyR17
https://dl.doubtnut.com/l/_AzrtTNeN3GwO
https://dl.doubtnut.com/l/_qOLb05i6fmI7

1. Express the following statements in the form of
simultaneous linear equations :
The total value of 3 copies (khata) and 2 pens is Rs. 44

and that of 4 copies (khata) and 3 pens is Rs. 61.

° Watch Video Solution

2. Express the following statements in the form of
simultaneous linear equations :

The sum of two different numbers is 80 and 3 times of
the difference of the two numbers is 20 more than

the greater one.

° Watch Video Solution



https://dl.doubtnut.com/l/_qOLb05i6fmI7
https://dl.doubtnut.com/l/_7PB1qxqJJtQp

3. Express the following statements in the form of
simultaneous linear equations :

If 2 is added to both the numerator and denominator
of a fraction, its value becomes 9 and if 3 subtracted
from both the numerator and denominator of it, the

1

fraction becomes 3

° Watch Video Solution

4. Express the following statements in the form of
simultaneous linear equations :
(iv) The tens' digit of a number of two digits is double

of its unit's digit. The number, obtained by reversing


https://dl.doubtnut.com/l/_7PB1qxqJJtQp
https://dl.doubtnut.com/l/_yiI8EPQCD0oR
https://dl.doubtnut.com/l/_c71K4EU8eO4K

the two digits of the number, is 27 less than the

original number.

° Watch Video Solution

5. Find the distance of the point (6, — 8) from both

the axes.

o Watch Video Solution

6. Determine the co-ordinates of the point
intersection of the equation 2x 4 3y = 12 on the x-

axis.

[ o Wiakrh \idAA Caliikian



https://dl.doubtnut.com/l/_c71K4EU8eO4K
https://dl.doubtnut.com/l/_xKi8mrHEw66b
https://dl.doubtnut.com/l/_aaAuaooYhQW8

7.Find the co-ordinates of the point of intersection of

the equation 2z — 3y = 12 on the y-axis.

° Watch Video Solution

8.Find the area of the triangle formed by the graph of

the equation 3z + 4y = 12 and the co-ordinates axes.

° Watch Video Solution

9. Determine the angle which the graph of the

equation x = y makes with the positive x-axis.


https://dl.doubtnut.com/l/_aaAuaooYhQW8
https://dl.doubtnut.com/l/_cnkeCVfD2DIR
https://dl.doubtnut.com/l/_rEmKDF7tyYio
https://dl.doubtnut.com/l/_BNfl3LxhxmUt

° Watch Video Solution

10. Draw the graphs of the following equations : (i)

r =25

o Watch Video Solution

11. Draw the graphs of the following equations : (ii)

y+2=0

o Watch Video Solution



https://dl.doubtnut.com/l/_BNfl3LxhxmUt
https://dl.doubtnut.com/l/_dgRG84TqOUQj
https://dl.doubtnut.com/l/_E1UwGc9CtXlK

12. Draw the graphs of the following equations : (iii)

d3r — Ty = 21

o Watch Video Solution

13. Draw the graphs of the following equations : (iv)

I
§+Z—O.

° Watch Video Solution

14. Express the following statements in the form of a
linear equations of two variables and draw the graph

of them : (i) The sum of two numbers is 15.


https://dl.doubtnut.com/l/_sNOZ6Q2DuExk
https://dl.doubtnut.com/l/_WC7EtHD8rePZ
https://dl.doubtnut.com/l/_n1Z4v4bxULZH

° Watch Video Solution

15. Express the following statements in the form of a
linear equations of two variables and draw the graph
of them : (ii) If 2 is added to both the numerator and
denominator of a fraction, the value of the fraction

becomes —.

9

° Watch Video Solution

16. Draw the graph of the following simultaneous

linear equations :

()y=>5 and 2z + 3y = 11



https://dl.doubtnut.com/l/_n1Z4v4bxULZH
https://dl.doubtnut.com/l/_eSMLzUlfaK5S
https://dl.doubtnut.com/l/_0ToxHOh2A4op

o Watch Video Solution

17. Draw the graph of the following simultaneous
linear equations :

(i) 3z — 5y = 16 and 2z — 9y = 5.

° Watch Video Solution

18. Draw the graph of the following simultaneous
linear equations and determine the co-ordinates of
the point of intersection of each of them. Also, find

their solutions :

)3z —y =054z + 3y =11

| e |


https://dl.doubtnut.com/l/_0ToxHOh2A4op
https://dl.doubtnut.com/l/_2jx8iX6h2Txg
https://dl.doubtnut.com/l/_i2hEutt0jZkD

l & Watch Video Solution ]

19. Draw the graph of the following simultaneous
linear equations and determine the co-ordinates of
the point of intersection of each of them. Also, find

their solutions :

(i) 2z + 3y = 12, 22 = 3.

° Watch Video Solution

20. Draw the graph of the equation % + % = 2 Also,

find the area of the triangle which is produced by this

graph with the co-ordinate axes.

r- Y |


https://dl.doubtnut.com/l/_i2hEutt0jZkD
https://dl.doubtnut.com/l/_X7i55ztw2Wl3
https://dl.doubtnut.com/l/_6212VvVbhIXI
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2. Draw the graph of the equation
x =4,y= 3 and 3z + 4y = 12 . Also, find the area

of the triangle formed by these three graphs.

° Watch Video Solution

T + 2
22. Draw the graph of y =

, Find the value of y
where x = — 2 from the graph. Also find from the

graphs the value of x for which the value of y is 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_6212VvVbhIXI
https://dl.doubtnut.com/l/_Hppeut9qxO5n
https://dl.doubtnut.com/l/_M3zV5d5pyQe5
https://dl.doubtnut.com/l/_Otdz7ZFbuwg2

3r — 1 B 2r + 6

23.Solve :
olve 3

by drawing its graph.

° Watch Video Solution

24. At a present your uncle is elder than you by 16
years. After 8 years, the age of your uncle will be 2
times of your age. Find the present ages of you and

your uncle with the help of graphs.

° Watch Video Solution

25. A boat travels 64 km in 16 hours in favor of the

current and 24 km in 8 hours against the current of


https://dl.doubtnut.com/l/_Otdz7ZFbuwg2
https://dl.doubtnut.com/l/_hB4HbUojQZIJ
https://dl.doubtnut.com/l/_Wtj6pazqHV4x

the river. Find the velocity of the boat in steady water

and the velocity of the current with the help of graph.

° Watch Video Solution

26. (a) Find the value of t if the point (4, t* — 4t + 4)

lie on the x-axis.

o Watch Video Solution

27. (b) For what wvalue of t the point

(£ — (2 + v/3)t + 2¢/3, 8) lie on the y-axis ?

° Watch Video Solution



https://dl.doubtnut.com/l/_Wtj6pazqHV4x
https://dl.doubtnut.com/l/_TRLz4h2ZF3tD
https://dl.doubtnut.com/l/_ZDE9SS9eE5xO

28. (a) Find the equation of the straight line parallel
to the x-axis and passing through the point

(-3, —5).

° Watch Video Solution

29. (b) Find the equation of the straight line parallel
to the y-axis and passing through the point

(_la _7)'

° Watch Video Solution



https://dl.doubtnut.com/l/_O7zPSCDMpMpi
https://dl.doubtnut.com/l/_YMxhEamTROxj

30. (a) Determine the value of a if the straight line

ar + Ty = 3(a — 2) passes through the origin.

° Watch Video Solution

31. (b) Determine the value of a if the straight line

2z + ay = 10(a — 30) passes through the point

(1,2)).

° Watch Video Solution

32. (a) Determine the co-ordinates of the point on the

straight line 2z — 3y = 12 whose abscissa is double


https://dl.doubtnut.com/l/_Z4PfFUjkGVer
https://dl.doubtnut.com/l/_7BuMb6ZeHlTz
https://dl.doubtnut.com/l/_TTVfk6ULWwKy

of its ordinate.

° Watch Video Solution

33. (b) Determine the co-ordinates of the point on the
straight line 11x — 7y 4+ 10 = 0 whose ordinate is 3

times of its abscissa.

° Watch Video Solution

34.(a) Find the polar co-ordinates of a point Cartesian

co-ordinates are ( — 1, 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_TTVfk6ULWwKy
https://dl.doubtnut.com/l/_NO8o5ZWTyGzb
https://dl.doubtnut.com/l/_w89lk59d7vhB

35. (b) Find the Cartesian co-ordinates of a point

) 5%
whose polar co-ordinates are (\/5, T)

° Watch Video Solution

36. (a) Transfer the equation z? + y2 — 2ax Cartesian

co-ordinates into an equation of polar co-ordinates.

o Watch Video Solution

37. (b) Transfer the equation r = a cos 8 of polar co-

ordinates into an equation of Cartesian co-ordinates.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_XW20dSsibyMN
https://dl.doubtnut.com/l/_Ky1FpTuKV6Jx
https://dl.doubtnut.com/l/_dmBotvFKRvl3

38. If the values C and R denote the temperature in

Centigrade and Romer scale respectively, then the

: . C R
relation between them is given by R

(1) Express this relation by a graph i.e. draw a graph of

this relation.

° Watch Video Solution

39. If the values C and R denote the temperature in

Centigrade and Romer scale respectively, then the

relation between them is given by % = %

(i) What will be the temperature of a place in Romer


https://dl.doubtnut.com/l/_dmBotvFKRvl3
https://dl.doubtnut.com/l/_HADqdcmAfD9Y
https://dl.doubtnut.com/l/_6WiX9OdA26Bg

scale if the temperature of the place is centigrade

scalebe 10°C ?

° Watch Video Solution

40. Determine the area of the plane region formed by
the graph of the equation

xr=6,y—3=0,z+4=0and y+5=0.

o Watch Video Solution

Exercise 3 Select The Correct Answer Mcq

1.(i) The point (10 — 7) lie on the


https://dl.doubtnut.com/l/_6WiX9OdA26Bg
https://dl.doubtnut.com/l/_BxszGkLfC1Ii
https://dl.doubtnut.com/l/_QHiopONNmqBg

A. first quadrant

B. second quadrant

C. third quadrant

D. fourth quadrant

Answer: D

° Watch Video Solution

2. (ii) Which one of the following points lie on the

second quadrant ?

A. (0, —3)


https://dl.doubtnut.com/l/_QHiopONNmqBg
https://dl.doubtnut.com/l/_ieN6wLHg4NPx

C ( - 37 4)
D.(2, — 5)
Answer: c

° Watch Video Solution

3. (ii)) Which one of the following points lie on the x-

axis ?

A. (0, 2)

B. (10, 0)


https://dl.doubtnut.com/l/_ieN6wLHg4NPx
https://dl.doubtnut.com/l/_oJPcdeYVs1y6

Answer: b

o Watch Video Solution

4. (iv) Which one of the following points lie on the x-
axis ?

A. (0, —5)

B.(—7, —5)

c. (11, 0)


https://dl.doubtnut.com/l/_oJPcdeYVs1y6
https://dl.doubtnut.com/l/_TsKvHFEKFEeC

D. (2, — 13)

Answer: a

° Watch Video Solution

5.(v) The graph of the equation 2z + 3 = Ois

A. parallel to the x-axis

B. parallel to the y-axis

C. not parallel to the axis

D. passing through the origin

Answer: b



https://dl.doubtnut.com/l/_TsKvHFEKFEeC
https://dl.doubtnut.com/l/_b7DoYTYKH4D9

l ° Watch Video Solution

6. (vi) The graph of the equation ay +b =0 (aand b

are constantanda # 0,b £ 0)

A.is parallel to x-axis

B. is parallel to the y-axis

C. is not parallel to the axis

D. passing through the origin

Answer: a

o Watch Video Solution



https://dl.doubtnut.com/l/_b7DoYTYKH4D9
https://dl.doubtnut.com/l/_N5AN7guIZMle
https://dl.doubtnut.com/l/_8mDuRBSdwUY2

7. (vii) The graph of the equation 2z 4+ 3y = 0

A. is parallel to x-axis
B. is parallel to the y-axis
C. passes through the origin

D. passes through the point (2, 0)

Answer: c

° Watch Video Solution

8. (viii) The graph of the equation cx +d = 0 ( c and
d are constant and ¢ # 0 ) will be the equation of the

y-axis when


https://dl.doubtnut.com/l/_8mDuRBSdwUY2
https://dl.doubtnut.com/l/_i8197UF8PpvQ

Ad= —c¢

B.d =c¢

C.d=20

D.d =1
Answer: ¢

° Watch Video Solution

9. (ix) The graph of the equationay +b =0(aand b
are constant and a # 0 ) will be the graph of the x-

axis when

Ab=a


https://dl.doubtnut.com/l/_i8197UF8PpvQ
https://dl.doubtnut.com/l/_oOE27iusMC7l

B.b= —a

C.b=2
D.b =0
Answer: d

° Watch Video Solution

10. (x) If the point (a,b) be one the second quadrant,

then which one of the following is correct ?

A.ab > 0

B.ab< 0


https://dl.doubtnut.com/l/_oOE27iusMC7l
https://dl.doubtnut.com/l/_5C9kL0yjIlhz

C.ab>0

D.ab < 0

Answer: b

° Watch Video Solution

1. (xi) Which one of the following straight lines is

parallel to the x-axis ?

By+3=0

C.2r = 3y


https://dl.doubtnut.com/l/_5C9kL0yjIlhz
https://dl.doubtnut.com/l/_fbbpD8lsQc2y

Dz +y=1

Answer: b

° Watch Video Solution

12. (xii) Which one of the following straight lines is

parallel to the y-axis ?

A.xz = k(k = constant)

By+7=0


https://dl.doubtnut.com/l/_fbbpD8lsQc2y
https://dl.doubtnut.com/l/_euhS16f3gP69

Answer: a

° Watch Video Solution

13. (xiii) The point of intersection of the straight line

ax + by = con the x-axis is

Answer: a

[ o WAL _ L vl e~ 0. ]



https://dl.doubtnut.com/l/_euhS16f3gP69
https://dl.doubtnut.com/l/_OO8hM798IOqB
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14. (xiv) The point of intersection of the straight line

pr + sqy = r on the y-axis is

Answer: d

o Watch Video Solution



https://dl.doubtnut.com/l/_OO8hM798IOqB
https://dl.doubtnut.com/l/_slOvbaXhVdxN

15. (xv) Which one of the following straight line passes

through the origin ?

Ay=cr+dc#0,d#0 and ¢, d are

constants)

(k— Dz + (k+ 1)y = 0(k = constant, k # — 1)
C.y = mx + ¢(m, care constant. C' # 0)

D.y = a(aconstant, a # 0)

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_1nCIyMlQDqt4

16. (xvi) If the straight lines \/1_933 + \/ﬁy = 7 passes
through the point (\/1_), ﬂ) then which one of the

followings is correct ?

A.\/z_)+\/f_]:r
Bp+qg=r
C.p2+q2:r

D.p—l—q:r2

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_1CLZWt4a05RB

17. (xvii) The distance of the point ( — 7, —9) from
the x-axis is

A. —7 units

B. 7 units

C. —9units

D. 9 units

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_sHvevdJAf15y

18. (xviii) if 22 + y2 = 0 then the distance of the point
(z, y) form the y-axis is

A. 22 units

B. O units

C. y2 units

D. Undetermined

Answer: b

° Watch Video Solution



https://dl.doubtnut.com/l/_MXoGVO0Or9o7

19. (xix) The straight line
z? + v — 2px — 2qy + -+ q2 = 0 passes through

the point

Answer: d

° Watch Video Solution



https://dl.doubtnut.com/l/_ONiqQWIFzItI

20. (xx) The polar co-ordinates of the point (\/g, 1) is

N[N A o w3
N——" N———" N———" N———

Answer: B

o Watch Video Solution

Exercise 3 Short Answer Type Questions



https://dl.doubtnut.com/l/_2QnP2cRhlJU2

1. (i) Write the co-ordinates of a point which is
equidistant from the axes and lie on the third

quadrant.

° Watch Video Solution

2. (ii) Find the value of t if the point ( —t, 2 +t+ 1)

is equidistant from the axes.

° Watch Video Solution

1 1
3. (iii) Find the value of (E + 3> if the three points

(a,0), (0,b) and (1, 1) are collinear.


https://dl.doubtnut.com/l/_EfTKvvAXgZhJ
https://dl.doubtnut.com/l/_GARNbEpXsdph
https://dl.doubtnut.com/l/_zQ4hA6bXOQWT

o Watch Video Solution

1 1
4. (iv) Find the value of (;,§> if the point

(z,0), (0,y) and ( — 1, — 1) are collinear.

° Watch Video Solution

5. (v) Determine the sum of the squares of the

intersections of the axes intercepted by the straight

line \/2z + /3y = /8.

° Watch Video Solution



https://dl.doubtnut.com/l/_zQ4hA6bXOQWT
https://dl.doubtnut.com/l/_sqNngl6oEjPL
https://dl.doubtnut.com/l/_TXg5urZIX1MJ

6. (vi) Find the value of t if the point (2, t* — 5t — 6)

lie on the x-axis.

o Watch Video Solution

7. (vii) Find the values of k for which the point

(k2 — 6k + 8§, 7) lie on the y-axis.

° Watch Video Solution

8. (viii) Determine the coordinates of a point on the
straight line z — 5y + 24 = 0 when the ordinate of

the point is one-third of its absciass.


https://dl.doubtnut.com/l/_GvfFWOfITaNN
https://dl.doubtnut.com/l/_clA4XT3ym49z
https://dl.doubtnut.com/l/_hx1wCh0F9M2E

o Watch Video Solution

9. (ix) Find the value of a if the straight line
10z + (a — 1)y = 11(a — 3) passes through the

origin.

° Watch Video Solution

10. (x) Find the area of the triangle formed by the
straight line 2,/ax +y = a with the co-ordinates

axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_hx1wCh0F9M2E
https://dl.doubtnut.com/l/_23BohxhILQzo
https://dl.doubtnut.com/l/_zdk49eJkhb5c
https://dl.doubtnut.com/l/_tHtlHHtor5aL

1. (xi) Find the equation of a staright line passing

through (k, — 7) and parallel to the x-axis.

o Watch Video Solution

12. (xii) Find the equation of a straight line passing

through ( — a, 0) and parallel to the y-axis.

° Watch Video Solution

13. (xiii) Find the area of the quadrilateral formed by

the straight lines


https://dl.doubtnut.com/l/_tHtlHHtor5aL
https://dl.doubtnut.com/l/_5w88cn3S59wS
https://dl.doubtnut.com/l/_KfVqLDEe9WBw

x=0,y=0,y4+3 =0 and z = 1 with the help of

graphs.

° Watch Video Solution

14. (xiv) Determine the polar co-ordinates of the point

whose Cartesian co-ordinates are (1, 1).

o Watch Video Solution

15. (xv) Determine the Cartesian co-ordinates of the

. ) T
point whose polar co-ordinates are (\/5, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_KfVqLDEe9WBw
https://dl.doubtnut.com/l/_SGxXttmvzPjQ
https://dl.doubtnut.com/l/_Gsa0a8iIZQmA

16. (xvi) The distance of a point from the x-axis is 7
units on the negative directions and the distance
from the y-axis is 8 units on the positive direction.

Find the co-ordinates or the point.

° Watch Video Solution

17. (xvii) Express the following statements in the form
of simultaneous linear equations :

(@) If 2 is added to both the numerator and
denominator of a fraction it becomes = and If 1 is
substracted from both the numerator and

1

denominator the value of the fraction becomes 7

[ & |


https://dl.doubtnut.com/l/_iiUKKHvn4Lqm
https://dl.doubtnut.com/l/_DcJKjDo6VFOg

l & Watch Video Solution J

18. (xvii) Express the following statements in the form
of simultaneous linear equations :

(b) The one's unit digit of a two-digit number is twice
of it's ten's unit digit. The number obtained by
reversing the digits of the number is 18 more than the

original number.

° Watch Video Solution

Exercise 3 Long Answer Type Questions



https://dl.doubtnut.com/l/_DcJKjDo6VFOg
https://dl.doubtnut.com/l/_gCctemZDxr8V

1. Draw the graphs of the following equations : (i)

y=17

° Watch Video Solution

2. Draw the graphs of the following equations : (ii)

T = —23

° Watch Video Solution

3. Draw the graphs of the following equations : (iii)

1

o Watch Video Solution



https://dl.doubtnut.com/l/_zTjs7p67wPxs
https://dl.doubtnut.com/l/_ImJepwOO7wyu
https://dl.doubtnut.com/l/_JlKrbvzHxvcr

4. Draw the graphs of the following equations : (iv)

Y

< -1
+3

z
4

° Watch Video Solution

5. Draw the graphs of the following equations : (v)

B 33—z
Y=y

° Watch Video Solution

6. Draw the graphs of the following equations : (iv)

20 — 3y =6


https://dl.doubtnut.com/l/_JlKrbvzHxvcr
https://dl.doubtnut.com/l/_KEwaEYi4LQkj
https://dl.doubtnut.com/l/_nIrGsQYLcvyY
https://dl.doubtnut.com/l/_dRsm57Wmlonw

° Watch Video Solution

7. Draw the graphs of the following equations : (vii)

r="y+1)

o Watch Video Solution

8. Draw the graphs of the following equations : (viii)

5 + 3y = 8

o Watch Video Solution



https://dl.doubtnut.com/l/_dRsm57Wmlonw
https://dl.doubtnut.com/l/_OmZ79QvlTT5P
https://dl.doubtnut.com/l/_FyU1LOfT3KdN

9. (a) Draw the graph of the equation 2y — 3x =7

1
Also find the value of y when z = 25 and the value of

1
x when y = 35 from the graph.

° Watch Video Solution

2 7
10. (b) Draw the graph of the expression T .

Also, find the value of the expression when z = 4 and
the value of x for which the value of the expression is

O from the graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_OZrBhL0dlag5
https://dl.doubtnut.com/l/_ExsswMPBrD1D

11. Express the following statements in the form of
linear equations of two variables and draw the graphs
of each of the equations :

(i) The product of two numbers is 10.

° Watch Video Solution

12. Express the following statements in the form of
linear equations of two variables and draw the graphs
of each of the equations :

(ii) The perimeter of a rectangular garden is 200 m.

o Watch Video Solution



https://dl.doubtnut.com/l/_OPsVze0iCVsM
https://dl.doubtnut.com/l/_Ic74GyGt4mC2
https://dl.doubtnut.com/l/_wMaUfckjIxSh

13. Express the following statements in the form of
linear equations of two variables and draw the graphs
of each of the equations :

(iii) At present, the age of Debleena's father is 42 year

more than that of Debleena.

° Watch Video Solution

14. Express the following statements in the form of
linear equations of two variables and draw the graphs
of each of the equations :

(ivy If 2 added to both the numerator and

denominator of a fraction it becomes 5

.Y |



https://dl.doubtnut.com/l/_wMaUfckjIxSh
https://dl.doubtnut.com/l/_42uB72A5tn2W

L ¥ vvatch viaeo solution ]

15. Draw the graphs of the following simultaneous
linear equations and find the point of intersection of
each pair:

()x =0 and 22 + 3y = 15

o Watch Video Solution

16. Draw the graphs of the following simultaneous
linear equations and find the point of intersection of
each pair:

(iyz +y=12and z — y = 2.

[ ° Watch Video Solution


https://dl.doubtnut.com/l/_42uB72A5tn2W
https://dl.doubtnut.com/l/_IAnkmLuSkPsu
https://dl.doubtnut.com/l/_85vALMn4Oyg0

17. Draw the graphs of the following simultaneous
linear equations and find the point of intersection of
each pair:

(iii)d4r —y=3 and 2x + 3y =5

° Watch Video Solution

18. Draw the graphs of the following simultaneous
linear equations and find the point of intersection of
each pair:

(iv)3z — 2y =1 and 2z — y = 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_85vALMn4Oyg0
https://dl.doubtnut.com/l/_qnWfJEx0fYM1
https://dl.doubtnut.com/l/_ROGc9myXprHd

19. Express the following statements in the form of
simultaneous linear equations and solve them by
drawing graphs :

(i) The sum of two numbers is 12 and their difference

is 4. Find the numbers.

° Watch Video Solution

20. Express the following statements in the form of
simultaneous linear equations and solve them by
drawing graphs :

(i) At present the age of a father is 28 years more


https://dl.doubtnut.com/l/_ROGc9myXprHd
https://dl.doubtnut.com/l/_z1WlvtS6wiPU
https://dl.doubtnut.com/l/_zqopUUDcKCrZ

than that of his son. After 10 years the age of father
will be 3 times of the age of his son. Find the present

ages of both father and son.

° Watch Video Solution

21. Express the following statements in the form of
simultaneous linear equations and solve them by
drawing graphs :

(iii) If 3 is subtracted from the numerator and 2 is
added to the denominator of a fraction it becomes 3
Again, if 4 is substracted from the numberator and 2
is subtracted form the denominator of the same

1
fraction, it becomes 7 Determine the fraction.



https://dl.doubtnut.com/l/_zqopUUDcKCrZ
https://dl.doubtnut.com/l/_zaR9FS1jkYsT

o Watch Video Solution

22. Express the following statements in the form of
simultaneous linear equations and solve them by
drawing graphs :

(iv) A boat travels 56 km in 4 hours in favour of the
current and 48 km in 8 hours against the current. Find
the velocity of the boat in steady water and the

velocity of the current.

° Watch Video Solution



https://dl.doubtnut.com/l/_zaR9FS1jkYsT
https://dl.doubtnut.com/l/_sY6zyuTbHmUy

23. Express the following statements in the form of
simultaneous linear equations and solve them by
drawing graphs :

(v) The perimeter of the rectangular garden is 60
metres. If its length be 2 metres ore and breadth be 2
metres less than that of the previous, then the area of
the garden becomes 24 sq. metres less than the
previous area. Determine the length and breadth of

the garden.

° Watch Video Solution



https://dl.doubtnut.com/l/_jsLaff76hhOy

24. Solve the following simultaneous linear equations
by drawing graphs for them :

(i) 2z 4+ 3y = 12, 2z = 3y

° Watch Video Solution

25. Solve the following simultaneous linear equations
by drawing graphs for them :

(i) 3x — 4y =18, Tx +y =11

° Watch Video Solution



https://dl.doubtnut.com/l/_oonAeduHz3Zq
https://dl.doubtnut.com/l/_hyRGxcAcyvBJ

26. Solve the following simultaneous linear equations
by drawing graphs for them :

(iydr —y=3,22 +3y =5

° Watch Video Solution

27. Solve the following simultaneous linear equations
by drawing graphs for them :

(iv)3z — 2y =6,3z — 2y = 3

° Watch Video Solution



https://dl.doubtnut.com/l/_XkkVk02xf1IP
https://dl.doubtnut.com/l/_PYkXQgprEqcv

28. Solve the following simultaneous linear equations
by drawing graphs for them :

(V) 2z + 3y = 15,32z — 2y = 3

° Watch Video Solution

29. Solve the following simultaneous linear equations
by drawing graphs for them :

(vi)bx — 2y =1, 3x + 5y = 13

° Watch Video Solution



https://dl.doubtnut.com/l/_LJ9QV166pD0I
https://dl.doubtnut.com/l/_CGA5jRGF2YzT

30. Solve the following simultaneous linear equations
by drawing graphs for them :

(vil)22 + 3y = 12,22 —y =4

° Watch Video Solution

31. Solve the following simultaneous linear equations
by drawing graphs for them :

(viii)dx — 3y = 0, 3x + 4y = 25

° Watch Video Solution



https://dl.doubtnut.com/l/_NpJex7tGn0Cs
https://dl.doubtnut.com/l/_sOMgQlJGTR7W

32. Solve the following simultaneous linear equations
by drawing graphs for them :

(ix) 3x + 4y = 12, 5 — 4y = 20

° Watch Video Solution

33. Solve the following simultaneous linear equations
by drawing graphs for them :

(x)4x + 3y =16,z —y = 2

° Watch Video Solution



https://dl.doubtnut.com/l/_CHs7gR3P7EEt
https://dl.doubtnut.com/l/_IIVvW1M26Uep

34. Solve the following simultaneous linear equations
by drawing graphs for them :

(xi)3z —y =54 + 3y =11

° Watch Video Solution

35. Solve the following simultaneous linear equations
by drawing graphs for them :

(xii) 3x + 2y = 6, 2 — 3y = 17

° Watch Video Solution



https://dl.doubtnut.com/l/_2DDRlByBTrZh
https://dl.doubtnut.com/l/_H7yDsYPSQmFI

36. Solve the following simultaneous linear equations
by drawing graphs for them :

(xi) 3z + 2y =1,22 —y =3

° Watch Video Solution

37. Solve the following simultaneous linear equations
by drawing graphs for them :

(xiv)3x + by =12,3x —by+ 18 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_PXB0DK6EBlQE
https://dl.doubtnut.com/l/_dTlfRtBzswQc

38. Solve the following simultaneous linear equations

by drawing graphs for them :

3r — 1 B 2 + 6
2 2

(xv)

° Watch Video Solution

39. Solve the following simultaneous linear equations
by drawing graphs for them :

(xvi)2x +3y= — 13,3z —2=0

° Watch Video Solution



https://dl.doubtnut.com/l/_oLBNfpU2yHf6
https://dl.doubtnut.com/l/_SlhP6vzHqzwN

40. Solve the following simultaneous linear equations
by drawing graphs for them :

(xvii) 3z + 2y = 5, 2z — 3y = 12

° Watch Video Solution

41. The sum of two numbers is 1 If one of them is
added to the thrice of the other, the result of the
addition becomes 3. Find the two numbers with the

help of graph.

° Watch Video Solution



https://dl.doubtnut.com/l/_Vy5sTe0znnOM
https://dl.doubtnut.com/l/_3mX0MagzkQoH

42. What principal will amount of Rs.560 in 3 years at

4% per annum simple interest?

° Watch Video Solution

43. A monkey climbing up a pole ascends 6 metres and
slips 3 metres in alternate minutes. If the pole is 60

metres high, how long will it take the monkey to reach

the top?

° Watch Video Solution

44, Solve the following 0 < |z — 3| < 10


https://dl.doubtnut.com/l/_JoaY4LZ3XWC7
https://dl.doubtnut.com/l/_61oizSetXs5X
https://dl.doubtnut.com/l/_alt30StW1EHj

o Watch Video Solution

45. Find the angle in radian through which a
pendulum swings if its length is 75cm and the tip

describes an arc of length 10cm.

° Watch Video Solution

46. (a) Find the area of the triangle formed by the
graph of the equations

x+y=0,3x =5y and y = 3x + 12.

° Watch Video Solution



https://dl.doubtnut.com/l/_alt30StW1EHj
https://dl.doubtnut.com/l/_ZMhNrbSdnVRY
https://dl.doubtnut.com/l/_f23rZCzKdzrh
https://dl.doubtnut.com/l/_0js8S5gt2vQn

47.(b) (i) Find the area of the plane region formed by
the graphs of the equations

x =4,3xr + 2y = 32 and Tx — 4y = 40.

° Watch Video Solution

48. (b) (ii) Find the area of the plane region formed by
the graphs of the simultaneous linear equations
2¢ + 3y = 12 and 2z + 3y = 36 with the co-

ordinates axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_0js8S5gt2vQn
https://dl.doubtnut.com/l/_pkmwGjcJeFvh

49, (b) (iii) Find the area of the triangle formed by

joining the points '(4,8),(-4,3) and (12,2) successively.

o Watch Video Solution

50. ( ¢) Find the area of the quadrilateral formed by
the four points (4,3),(2,5),(0,2) and (2,0)

successively.

° Watch Video Solution



https://dl.doubtnut.com/l/_h2guxROQXpLq
https://dl.doubtnut.com/l/_7OwzwxiG7MQs

